1) (20 pts.) Solve the following initial value problem
yrx if xz2
@ _ g and y(e)=0.
~12—(y +x) if x<2

Show all your work.
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2) (20 pts.) Solve the differential equation dy _x+3y-35

Show all your work,
de x—y-1
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3) (20 pts.) Solve y+= (y )2 = ye~ ( y) ’and find the general solution. Show all your

work. — s |
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4) (20 pts.)Use Gauss-Jordan elimination to solve the given system of equations

o= X = x + 2% = 1
-3x, 4+ 2x, + x;, - Tx; = =3
S5, + x, + Txy + 17x, = 18

Warning: There is no partial for this question, so make sure that your operations are

right and your final answer is correct.
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5) a) (10 pts.)
Are there a 225 x 112 matrix 4 and a //2x 225 matrix B such that AB=1,,,_,,s ?
Prove your answer,
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b) (10 pts.) True or false: If true, give a proof, if false give a counter example.
If A and B are 2x2 matrices then (4 + B)* = 4% +24B + B?.
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